Submission folder

Hilti HIT-HY 70 Injection Adhesive
with HIT-V / HIT-VR

Sample Submission and 2-5
Approval Form

Product Information 6-13

Technical Information
- HY70 + HIT-V / HIT-VR 14 - 20

Method Statement 21-25
Government Letter 26 - 27
VOC Certificate 28
Country of Origin 29
Material Safety Data Sheet 30 - 33
Job Reference 34

Make your submission simple!

To download the most updated submission folders and technical
manuals, visit http://www.hilti.com.hk/download and benefit from the
out-of-charge premium web service that Hilti offers you! Our website
is available for you 24 hours a day!

;‘E Recycling one ton of paper saves 17 trees and 7000 gallons of water. Please
consider your environmental responsibility before using the hard copy version!

Page 1 May 2016


liwin
Text Box
Make your submission simple!
To download the most updated submission folders and technical manuals, visit http://www.hilti.com.hk/download and benefit from the out-of-charge premium web service that Hilti offers you! Our website is available for you 24 hours a day!
P Recycling one ton of paper saves 17 trees and 7000 gallons of water.  Please consider your environmental responsibility before using the hard copy version!


SAMPLE SUBMISSION AND APPROVAL FORM

Contract Title: Ref. No.:

Date:

Ref. No. of
Previous
Submission:

Contract No: (1)

File Reference: (2

DETAILS OF SUBMISSION

To: Contract Manager’'s Representative Attention:

From:

The enclosed sample and catalogue* / certificate of origin* / technical data* / test report* / job reference* as
described below have been checked for compliance with the Specifications and Drawings, and are submitted for
approval.

1. General Information
a. Material Description HIT — HY70 Injection Adhesive

b. Location:

c. Specification Ref. Page: ltem:

d. Drawing Ref. No.

e. B.Q. Ref.No.:

f. Anticipated date of approval:

2. Technical Information
The submitted sample has been checked against the specification and drawings as listed below:-

Submitted Sample

Specification Requirements (State details against each item)

a. Brand
Not specified Hilti
b. Country of Origin
Not specified Germany
c. Manufacturer’s Name & Address
Not specified Hilti Corporation, FL-9494 Principality of Liechtenstein.

d. Factory’s Name & Address(es)
Not specified Hilti Gmbh Ind. Ges. F. Befestigungstechnik
Hiltistrasse 6, D-86916 Kaufering, Germany.
e. Supplier (with Applicator, if any)
Not specified Hilti (Hong Kong) Ltd

Page 1 of 2
Page 2 May 2016



f. Appearance

Not specified According to the sample submitted
g. Color +
Not specified Light Grey

h. Specification
Not specified Attached

i. Manufacturer’s Catalogue
Not specified Attached

j- Test Report (Original/Certificated True Copy)
Not specified Attached

k. Previous Job Reference
Not specified Attached

|. Supplementary Information
Not specified NIL

For and on behalf of the Contractor

(Quiality Control Manager)

CONTRACT MANAGER’S COMMENTS

To:
From: Contract Manager’'s Representative:

On the basis of the sample and information given, the above sample submitted is:

Q) * Approved.
(2) * Not approved because
Remarks:

Approval does not alter the requirements of the Contract
Contract Manager’'s Representative:

Date:

CcC.

(* Delete if appropriate)
(+ For glass or vitreous mosaic tiles, the contractor is required to confirm the colour range(s) of the
submitted sample, i.e. a) light and or medium; or b) dark)

Page 2 of 2
Page 3 May 2016




SAMPLE SUBMISSION AND APPROVAL FORM

Contract Title: Ref. No.:

Date:

Ref. No. of
Previous
Submission:

Contract No: )

File Reference: (2)

DETAILS OF SUBMISSION

To: Contract Manager’s Representative Attention:

From:

The enclosed sample and catalogue* / certificate of origin* / technical data* / test report* / job reference* as
described below have been checked for compliance with the Specifications and Drawings, and are submitted for
approval.

1. General Information
a. Material Description HIT-V / HIT-VR Anchor Rod

b. Location:

c. Specification Ref. Page: Item:

d. Drawing Ref. No.

e. B.Q. Ref.No.:

f. Anticipated date of approval:

2. Technical Information
The submitted sample has been checked against the specification and drawings as listed below:-

Submitted Sample

Specification Requirements (State details against each item)

a. Brand
Not specified Hilti
b. Country of Origin
Not specified Republic of China
c. Manufacturer’s Name & Address
Not specified Hilti Corporation, FL-9494 Principality of Liechtenstein.

d. Factory’s Name & Address(es)
Hilti (China Zhangjiang) Co. Ltd., Yongping Road South,
Not specified Zhangjiang Development Zone, 524022 Zhangjiang,
Guangdong Province, China.

e. Supplier (with Applicator, if any)

Page 1 of 2

Page 4 May 2016



Not specified Hilti (Hong Kong) Ltd
f. Appearance
Not specified According to the sample submitted
g. Color +
Not specified Nil
h. Specification
Not specified Attached
i. Manufacturer’s Catalogue
Not specified Attached
j. Test Report (Original/Certificated True Copy)
Not specified Attached
k. Previous Job Reference
Not specified Attached
I. Supplementary Information
Not specified NIL
For and on behalf of the Contractor
(Quality Control Manager)
CONTRACT MANAGER’S COMMENTS
To:
From: Contract Manager’s Representative:

On the basis of the sample and information given, the above sample submitted is:

(1)* Approved.
2)* Not approved because
Remarks:

Approval does not alter the requirements of the Contract

Contract Manager’s Representative:

Date:

CcC.

(* Delete if appropriate)

(+ For glass or vitreous mosaic tiles, the contractor is required to confirm the colour range(s) of the

submitted sample, i.e. a) light and or medium; or b) dark)

Page 2 of 2

Page 5

May 2016




=T Anchor Systems

Injectable mortar HIT-HY 70

Base materials

B Concrete (aerated)

B Concrete (uncracked)

B Drywall

B Glass

B Masonry (grout-filled CMU)

B Masonry (hollow)

B Masonry (hollow CMU)

B Masonry (multiple-wythe brick/ unreinforced masonry)

B Masonry (solid)

B Some types of natural stone

Applications

B Applications in hollow and solid masonry

B Suitable for glass structures

B For heavy bracing on insulated materials in applications such as
the installation of sun shades

B For wall ties

B Refurbishment and renovation

Advantages

B Provides strong, reliable and easy-to-install fastenings in a vari-
ety of masonry materials

B Performs reliably where the quality of the brick and mortar
is inconsistent, even when the size and location of voids are
unknown

B HIT-SC composite sleeves offer greater flexibility through use of
multiple sleeve combinations and also minimize mortar wastage
by more accurate dosing in hollow base materials

B Fastenings are free of expansion forces and have technical
approvals

B For use in indoor and outdoor applications in dry or wet drilled
holes

B Can be used in the temperature range between -5°C and +40° C

(except in solid brick)

Technical data

SAFEset No

Material composition Hybrid urethane methacrylate
adhesive

Seismic No

In-service temperature - range -40-72°C

IBC compliance IBC 2006,I1BC 2009

Additional product information No

Ordering designation Package contents

HIT-HY 70 330/2

Customer Hotline: Hong Kong 8228 8118 Macau 00800 8228 8118

Approvals
ETA

Option 7)

ETA-09/0265 for HIT-HY70 concrete (ETAG 001-5,

Approvals and test reports may apply to selected products only. Please refer
to the documents for details.

e B

These are abbreviated instructions which may vary according to the application.
Always observe/follow the instructions accompanying the product or refer to

www.hilti.com/techlib.

1x Foil pack, 2x Mixer, 1x Mixer extension

Page 6

Sales pack
quantity

1pc

Item number

383677

May 2014




Anchor Systems =111

Dispenser HDE 500-A22

Applications Technical data
B Injection of Hilti HIT adhesive mortar for fastening anchor rods Dispenser, setting tool, accessory, Dispensers
and rebars in concrete and masonry tester type

B No need for external power source supply
B Serial fastenings and/or injection in deep holes

Advantages

B Dose adjustment knob for accurate and controlled dispensing
B Fast, easy foil pack loading

B High battery capacity (up to 100x500ml foil packs)

B 2

product
desig

award reddot design award
winner 2013
2013 u

Ordering designation Weight ::I:Ifﬁl:;ck Item number
HDE 500 CB DISPENSER KIT 1pc 3499078"
HDE 500-A22 box 2.2kg 1 pc 2005630
HDE 500-A22 CR/CB cas 2.2 kg 1pc 2005637
HDE 500-A22 empty 2.4kg 1 pc 434724
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Dispenser HDM

Applications Technical data

] InjeCtiOn of Hilti HIT adhesive mortar for fastening anchor rods Dispenser’ seﬂing tool’ accessory, Dispensers’ n/a

and rebars in concrete and masonry tester type

Advantages

B Fast, easy foil pack loading

Ordering designation Weight z::;i'::ck Item number
HDM 330 CB DISPENSER KIT 1pc 3499082"
HDM 330 CB CARDBOARD BOX 1pc 3499103"
HDM 500 CB DISPENSER KIT (2060870 W/ACC) 1pc 3499081
HDM 330 cas 1pc 2060429
HDM 500 cas 1pc 2060870
HDM 330 box 1.5 kg 1pc 2005640
HDM 500 box 1.8 kg 1pc 2005641

" This is a non-stock item. For detailed lead time information please contact your Hilti representative.

183 Page 7 Hilti online: www.hMang@]_(s



Anchor Systems =111

Accessories for blowing out drilled holes Hilti HIT

Applications Technical data
B For fast and efficient removal of dust and debris from drilled Dispenser, setting tool, accessory, Cleaning accessories
holes of varying diameters and depths to allow correct installa- tester type

tion of anchors and rebar

Sales pack

Ordering designation quantity ltem number
Blow-out pump 1pc 60579
Extension tube HIT-VL 16/0.7 10 pc 336646
Hilti HIT Profi accessories Air nozzle
Applications Technical data
| Clearing dust and debris from drilled holes under various condi- Dispenser, setting tool, accessory, Cleaning accessories
tions including where adhesive anchors are set at great depth tester type
Advantages
B Fast, effective cleaning of drilled holes
Ordering designation Drill hole diameter z:l:l:il::ck Item number
Air nozzle HIT-DL 20 20 mm 1pc 3711719"
Air nozzle HIT-DL 25 25 mm 1pc 371720"
Air nozzle HIT-DL 32 32 mm 1pc 371721
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Accessories for using brushes to clean holes Hilti HIT
Applications Technical data
B Forthe proper brushing of drilled holes of Varying diameters and Dispenser, setting tool, accessory, Cleaning accessories
embedment depths tester type
Ordering designation Drill hole diameter zz:fﬁ':;ck Item number
Brush extension HIT-RBH 1pc 229138"
Brush extension HIT-RBV 1pc 238727"
Holder TE-Y 1pc 263439"
Brush extension HIT-RBS 10/0.7 1pc 336645"
Round brush 13 HG 12 mm 1pc 229133
Round brush 18 HG 18 mm 1pc 229134
Round brush 18 GA 18 mm 1pc 229136"
Round steel brush HIT-RB 20 20 mm 1 pc 336552"
Round steel brush HIT-RB 25 25 mm 1pc 336553"
Round brush 28 HG 28 mm 1pc 229135
Round brush 28 GA 28 mm 1pc 229137
Round steel brush HIT-RB 30 30 mm 1pc 380920"
Round brush 38 GA 38 mm 1pc 229673"
Round steel brush HIT-RB 40 40 mm 1pc 382260"
Round steel brush HIT-RB 47 47 mm 1pc 382264"
Round brush 50 GA 50 mm 1pc 229674"

" This is a non-stock item. For detailed lead time information please contact your Hilti representative.

243 Page 8 Hilti online: www.hMang@]_G



=T Anchor Systems

Profi accessories for mortar injection Hilti HIT

Applications Technical data

B For injection of Hilti HIT adhesive mortars in a variety of situa- Dispenser, setting tool, accessory, Mixing nozzles and injection
tions including deep holes, overhead holes and in underwater tester type accessories
applications

Advantages

B Injection pistons and flexible extension hoses help ensure con-
sistent injection of the adhesive into the hole without formation

of air voids
. . . . . Sales pack
Ordering designation Drill hole diameter quantity Item number
Hose HIT-VL 11/1.0 10 pc 2042533"
Coupler VL-K 10 pc 335021"
Piston plug HIT-SZ 20 20 mm 10 pc 2039312"
Piston plug HIT-SZ 25 25 mm 10 pc 2039315"
Piston plug HIT-SZ 30 30 mm 10 pc 2039317"
Piston plug HIT-SZ 40 40 mm 10 pc 2039325"
Piston plug HIT-SZ 47 47 mm 10 pc 2039332"
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Overhead cup
Technical data
Dispenser, setting tool, accessory, Mixing nozzles and injection
tester type accessories
Ordering designation SalceinacK Item number
quantity
Drip guard HIT-OHC1 10 pc 387551
Drip guard HIT-OHC2 10 pc 387552
Wedge HIT-OHW 100 pc 387550
HIT Profi accessories (Glasses & empty cases)
Technical data
Dispenser, setting tool, accessory, Other accessories
tester type
Ordering designation Rl Item number
9 9 quantity
Safety glasses 1pc 5205"

" This is a non-stock item. For detailed lead time information please contact your Hilti representative.

Customer Hotline: Hong Kong 8228 8118 Macau 00800 8228 8118 Page 9 May Zom



Anchor Systems =111

Mixers and extensions Hilti HIT

Technical data
Dispenser, setting tool, accessory, Mixing nozzles and injection
tester type accessories
Ordering designation palesiack Item number
quantity
Mixer HIT-RE-M 1pc 337111
Mixer HIT-M1 assy 100 pc 68156
245 Page 10

Hilti online: www.hMa&ynZ@]_(S



Anchor Systems =111

Anchor rod (5.8 carbon steel) HIT-V-5.8

. I
\ )

Approvals Technical data
ETA (ETAG 001-05, Option 7) Head configuration Externally threaded
ETA-09/0265 for HIT-HY70 concrete (ETAG 001-5, - — - -
Option 7) Material composition Steel, 5.8 grade, zinc-plated (min. 5

Approvals and test reports may apply to selected products only. Please refer - - um) -
to the documents for details. Material, corrosion Steel, zinc-plated

Anchor type Off-the-shelf rods
c E m Approvals / test reports ETA,Fire

Fire Yes

Base materials

Bl Concrete (cracked)

B Concrete (uncracked)

B Masonry (solid)
Ordering designation Anchor size Drill bit diameter Drilling depth Base plate clearance hole ::I;sﬁﬁck Item number
HIT-V-5.8 M6x75 M6 60 mm 7 mm 20 pc 387144"
HIT-V-5.8 M6x105 M6 80 mm 7 mm 20 pc 387145"
HIT-V-5.8 M8x80 M8 10 mm 60 mm 9 mm 20 pc 387054"
HIT-V-5.8 M8x110 M8 10 mm 80 mm 9 mm 20 pc 387055
HIT-V-5.8 M10x95 M10 12 mm 90 mm 12 mm 10 pc 387057"
HIT-V-5.8 M10x130 M10 12 mm 90 mm 12 mm 10 pc 387058
HIT-V-5.8 M10x115 M10 12 mm 90 mm 12 mm 10 pc 387146"
HIT-V-5.8 M12x110 M12 14 mm 110 mm 14 mm 10 pc 387060"
HIT-V-5.8 M12x150 M12 14 mm 110 mm 14 mm 10 pc 387061
HIT-V-5.8 M12x120 M12 14 mm 110 mm 14 mm 10 pc 387147
HIT-V-5.8 M16x150 M16 18 mm 125 mm 18 mm 5 pc 387064"
HIT-V-5.8 M16x200 M16 18 mm 125 mm 18 mm 5pc 387065
HIT-V-5.8 M16x300 M16 18 mm 125 mm 18 mm 5 pc 387066"
HIT-V-5.8 M20x180 M20 22 mm 170 mm 22 mm 5pc 387068"
HIT-V-5.8 M20x260 M20 22 mm 170 mm 22 mm 5 pc 387069
HIT-V-5.8 M20x380 M20 22 mm 170 mm 22 mm 10 pc 387070"

189 Page 11 Hilti online: www.hMang@]_G



=T

Anchor Systems

Ordering designation Anchor size
HIT-V-5.8 M20x480 M20
HIT-V-5.8 M24x300 M24
HIT-V-5.8 M24x450 M24

22 mm
28 mm
28 mm

Drill bit diameter

Drilling depth Base plate clearance hole
170 mm 22 mm
210 mm 26 mm
210 mm 26 mm

" This is a non-stock item. For detailed lead time information please contact your Hilti representative.

Anchor rod (8.8 carbon steel) HIT-V 8.8

N
L V

Approvals

ETA (ETAG 001-05, Option 7)

Technical data
Head configuration

Option 7)

ETA-09/0265 for HIT-HY70 concrete (ETAG 001-5,

Sales pack

quantity Item number
10 pc 387071
5 pc 387072
5 pc 387073

Externally threaded

Material composition

Approvals and test reports may apply to selected products only. Please refer

to the documents for details.

Steel, 8.8 grade, zinc-plated (min. 5
um)

Material, corrosion

Steel, zinc-plated

Anchor type Off-the-shelf rods
C E m Approvals / test reports ETAFire
Fire Yes
Base materials
B Concrete (cracked)
Bl Concrete (uncracked)
B Masonry (solid)
Ordering designation Anchor size Drill bit diameter Drilling depth Base plate clearance hole Required tightening torque :::ii':;ck ltem number
HIT-V-8.8 M8X150 M8 10 mm 80 mm 10 mm 10 Nm 20 pc 387056
HIT-V-8.8 M10X190 M10 12 mm 90 mm 12 mm 20 Nm 10 pc 387059
HIT-V-8.8 M12X220 M12 14 mm 110 mm 14 mm 40 Nm 10 pc 387062
HIT-V-8.8 M12X280 M12 14 mm 110 mm 14 mm 40 Nm 10 pc 387063
HIT-V-8.8 M16X380 M16 18 mm 125 mm 18 mm 80 Nm 5 pc 387067
Anchor rod (A4 stainless steel) HIT-V-R
N /\ N
m V \/
\
Approvals Technical data
ETA (ETAG 001-05, Option 7) Head configuration Externally threaded
ETA-09/0265 for HIT-HY70 concrete (ETAG 001-5, - —
Option 7) Material composition Steel, A4 (SS316)
Approvals and test reports may apply to selected products only. Please refer Material, corrosion Steel, stainless
to the documents for details.
Anchor type Off-the-shelf rods
C E Approvals / test reports ETA,Fire
Fire Yes
Base materials
B Concrete (cracked)
B Concrete (uncracked)
B Masonry (solid)
Ordering designation Anchor size Drill bit diameter Drilling depth Base plate clearance hole Required tightening torque ::Le:ﬁ':;(:k Item number
HIT-V-R M8X110 M8 10 mm 80 mm 9 mm 10 Nm 20 pc 387075
HIT-V-R M8X150 M8 10 mm 80 mm 9 mm 10 Nm 20 pc 387076
HIT-V-R M10X115 M10 12 mm 80 mm 12 mm 20 Nm 10 pc 387148"
HIT-V-R M10X95 M10 12 mm 90 mm 12 mm 20 Nm 10 pc 387077"
HIT-V-R M10X130 M10 12 mm 90 mm 12 mm 20 Nm 10 pc 387078
HIT-V-R M10X190 M10 12 mm 90 mm 12 mm 20 Nm 10 pc 387079
HIT-V-R M12X120 M12 14 mm 90 mm 14 mm 40 Nm 10 pc 387149"
HIT-V-R M12X110 M12 14 mm 110 mm 14 mm 40 Nm 10 pc 387080"
Customer Hotline: Hong Kong 8228 8118 Macau 00800 8228 8118 Page 12 May 201$p




Anchor Systems =111

Ordering designation Anchor size Drill bit diameter Drilling depth Base plate clearance hole Required tightening torque ::I:;igck Item number
HIT-V-R M12X150 M12 14 mm 110 mm 14 mm 40 Nm 10 pc 387081
HIT-V-R M12X220 M12 14 mm 110 mm 14 mm 40 Nm 10 pc 387082
HIT-V-R M12X280 M12 14 mm 110 mm 14 mm 40 Nm 10 pc 387083
HIT-V-R M16X150 M16 18 mm 125 mm 18 mm 80 Nm 5 pc 387084"
HIT-V-R M16X200 M16 18 mm 125 mm 18 mm 80 Nm 5pc 387085
HIT-V-R M16X300 M16 18 mm 125 mm 18 mm 80 Nm 5 pc 387086"
HIT-V-R M16X380 M16 18 mm 125 mm 18 mm 80 Nm 5pc 387087
HIT-V-R M20X260 M20 22 mm 170 mm 22 mm 150 Nm 5 pc 387088
HIT-V-R M20X380 M20 22 mm 170 mm 22 mm 150 Nm 10 pc 387089"
HIT-V-R M20X180 M20 22 mm 170 mm 22 mm 150 Nm 5 pc 387150"
HIT-V-R M20X480 M20 22 mm 170 mm 22 mm 150 Nm 10 pc 387151
HIT-V-R M24X300 M24 28 mm 210 mm 26 mm 200 Nm 5 pc 387152
HIT-V-R M24X450 M24 28 mm 210 mm 26 mm 200 Nm 5 pc 387153
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Composite mesh sleeve HIT-SC
Technical data
Material composition Plastic
Material, corrosion Plastic
Anchor type Mesh sleeve
Installation direction All
Base materials
Bl Concrete (hollow deck)
H Drywall
B Masonry (hollow)
B Masonry (hollow CMU)
B Masonry (multiple-wythe brick/ unreinforced masonry)
Ordering designation Anchor size Drill bit diameter Drilling depth ::I:l:i'::ck Item number
HIT-SC 12X50 12 12 mm 60 mm 20 pc 375979"
HIT-SC 12X85 12 12 mm 95 mm 20 pc 375980"
HIT-SC 16X50 16 16 mm 60 mm 20 pc 375981
HIT-SC 16X85 16 16 mm 95 mm 20 pc 375982"
HIT-SC 18x50 18 18 mm 60 mm 20 pc 360485"
HIT-SC 18x85 18 18 mm 95 mm 20 pc 360486"
HIT-SC 22x85 22 22 mm 95 mm 10 pc 284511"

" This is a non-stock item. For detailed lead time information please contact your Hilti representative.

191 Page 13 Hilti online: www.hMang@]_G



€9¢ €102 /80

02-10-6002 / 0€81-€"12-Z [enoidde ueuwa9 [euoieu Aq PaISA0D JOU (WD L X WOG' || X WO0'+Z)

4N 82IS Youq wnwiulw ‘cwp/Bx 0°Z ANsusp LWW/N €2 < Uibuais Youg yum (901 NIA) SH 404 pllea Ajuo senjep  (p
02-10-6002 / 0£81-€"1.2-Z [eAoidde uewss [euoljeu Ag PaISA0D Jou ‘(WdL'/ X WG || X WOQ‘E)
AN 9218 ouq wnwiuiw ‘.wp/Bx 0°Z ANSUSP ‘WW/N 62 < UiBuass Youg yum (S0 NI) ZIN 104 plieA Ajuo senjep (9
yibuans youq =% (q
‘suolje|nbai [euoljeu uo paseq ale s|elsjew 9seq UBWISD) IO} SSN|EA PEO| POpUSWWOIayY (e
puepazjims
. ) . ‘ ‘A
»0'€ »0'€ 0 - [N N ELISnY AUBLLES
. . . 08
A A o'l - [NY] %A AWN ZLZ (oY
Z-LLLNT
/901 NI
L' L' 0L - [NY] N 0'z/zL SH
YoLq Swi|-pues pijog
©0'€ ©0'€ ©0'€ - NSt A PUELISZIMS
‘elysny ‘Auewsas)
(o O,m (o O,m (o O,m - ﬁZv__ uEZ
. . . 08 MWN ZL < (%
A L' o'l - [N A 1-12/ N3
/S0L NI
. . . 0°z/zLzIN
L' L' 0'L - N3] N souq Ag[o piog
[ww] yydep |elajew
ZLN oLIN 8N 9N Buyes aseg
azis doyosuy
3-SVH ‘SVH ‘A-LIH

€102 /80

[42]%

92-01-2002 / 20¥99) 4M

a1yuojbuiem

(eu1y) podau Juswissassy

¥0-90-200¢ / £51-20-g/1ll 9d

Bizdie ‘vd4IN

podai 1sa) all4

9002°80 Z1700 XA

sled ‘031000S

(= 93.L0D0S @nbiuyos} syl

(lenosdde uewas) [euoneu)

3-SVH ‘SVH ‘A-LIH UHM 0L AH-LIH :A1uosew pijog
:[N3] ut 3no |ind pue Jnoyeaiq 321 10} °3'4 Speo| papuUBAWWOIY

(D.07 11 o5+ :(Z1ZIN *679) sx21q KBS pijos :uondaax3)

2,07+ Ubnouyy 9,G- usamiaq aq ysnw Buund pue uonejeisul Buunp ainjesadws) [elsjew aseq

pasn aq ued 9°G Jo Ajjenb |98)s wnwiuiw e pue (Yibus| pue Jayowelp) azis sjelidoidde jo spos papealy|
0/-7V :NY-SIH / 8'G 9petB "ulw :N-S|H pue JJ-1IH ‘Ol-LIH 10} sma.os 1o} Ajenb |es)s

Mo|aq ejep 9as :sjuawale Bulusisey jo Ayjenb |99)s

(s|ieyop Bues ‘asn 1oy uoponuysul 88s) Bulas Joydsue 1081100

spow Buuswwey ul siswwey AJejol 31 Yjm paj|Lup Sa|oY J0) PI[EA SSNjeA peo-]

03 sadde mojaq ajqe} ay3 ul ejep |1y

(1oyoue ajbuis e 10j) ejep Buipeoj oiseq

0¢-10-600¢ / 0€8L-€'LC-Z uiyeg 1a1a Bunsse|nz
ayoljyoIsineneq auewabiy
anss| Jo ajep / ‘'ON KiojeioqeT / fuoyiny uondussaq
S9)eo1}11499 / sjeaouddy
2Jemyos
ubisap Juejsisal 9}010U00 yidep
Qoue)sisal Q0ue)sisal
Joyouy U0IS0.100 pajeloe YOUQ MOJIOH  MOuQ PIIOS  JusWpaqWis  8}8I0U0D
U0IS0110D) all4
SI404d ybiH panejooiny 8|qelep
== Al
= 9LE 72
1] |Y¥OH v = 7
=
IS
Xew :wJsy buo ONoBIS
OocL ’ } | a)sodwod
0,021 "Xew :uwia) Joys 9S-11H
:saJnjesadws) 80IAI9S-UI - R s L
sBujue)se} peaylano Joj a|qeyns -
sanssls 9N93IS NY-SIH
DS-1IH YiMm [013u0d Buijjiy Jepow -
Buroeds pos 3-SVH
Joyoue pue aouejsip abpa |lews -
ssauyIy} Bulusysey PoJ A-LIH
pue yydep Bumes o|qixaly -
Buljpuey JusIUSAUOD pue J|JesIan -
Bupno pides - 1eXIN
Jepow plgAy Jusuodwoo-omy -
S8UO0}S [BiNjeu ‘8}81ouod (3oed |10}
Jubiam Jyb1| pajelse ‘syo0|q W ooyl pue
2)2J0u09 1yblam Jybi| pue [ewlou W 00S se
'Syl awWij-pues ‘syouq Aepo - a|qe|ieAe os|e)
pIjOS pue mojjoy - soed 10} A
‘sjelaew aseq jo adAy W 0€E 0L AH i LT LT
||e 1o} Bujus)sey uonoslul [eolweyo - ~1IH HIH

Syjsusg

wa)sAs Jeyow uonoaful

Aiuoseuw Joj sejiow uon3odafur 0L AH-LIH BI'H

0/ AH-L1IH BIH

May 2016

Page 14



€102 /80

79€

ybuans yougq =% (q

‘suolje|nBel [eUONEU UO paskeq ale S[eldjewl 8Seq UBLISL) J0j SBN|BA PEO| papuswWwoday (e

0'L 0'L

N3] A

[NY]°*N

08

Auewian
‘(uojaqyyora Jebuod

-sylomjney) 19| -ooe
9)210u09 JyBlamybi

[N3I1 A

N1 °*N

08

puepazImMg
‘euysny ‘Auewien

MUWNZ <Y
=1L N3
/S9L¥ NId
¥'0-Z Mdd

8)9I0U02 pajelay

mom €102 /80
“Ji§ Jou op sjuswald QLN OI-LIH AU OLIN OI-LIH Yim " X8| OS-LIH (o
ybuans soug =9 (q
12901, 1M = %14 ‘= 299/ Jo)0B) AJoses [BqO|B B JO UONRISPISUOD YIM SBN|BA PEO| PEpUSWWosY (e
0z el €l €l [ [N3I]2>'A ulelg 18819
(ww
05 8y  ssaudoIy} [18YS)
ZLLXGLZ X Opp
60 60 60 80 0 INs] N lwwl g x H X7
JUW/N £ =g %
€12/ N3
)}o0|g aja10u0)
A L' L' L' 6'0 [NY] %A
08
) . ) . . urejug yeal
gl gl L0 9'0 70 N1 °*N (wiw
8y  SsawyoIy} [I9YS)
| - O
« ¢ ¢ ‘ ‘ %8l I
A L't A L' 6'0 N> A BEL X G12 X ObF
0S [wwlgxHx7
‘ ‘ ‘ 0 ‘ 281 NEE\Z N N S au—
S'L Gl L'0 9'0 ¥'0 N3] N €-12/ N3
)}o0|g aje10u0)
0c 0z 0C 9') 0} N1 A
urejug yeal
08 (ww
0z 0z VL 80 €0 INY] >N 8y ssswpll lleus)
. , , . , oo " .
0z 0z 0'z 9l o'} N> GLZXGLZ X Obh
0S [wwlgxHx1
) » . . . AMWN 0L 2 (oY
0'C 0C [ 8'0 €0 N3] N €-1// N3
)}o0|g aja10u0)
44 UXxglL X9l X9l Xz [wuw] yydap [
OS-LIH | OS-LIH | OS"LIH | OS-lIH | OS-lH Buijes aseg
ZLN OLIN 8N 9N azis Joyduy

3-SVH ‘SVH ‘A-LIH

(47|

Ol s

9N

[ww] yydep
Buieg

|euajew
aseg

az|s Joyouy

04 AH-L1IH #H

3-SVH ‘SVH ‘A-LIH Pue 9S-1IH YNM 0L AH-LIH :Aiuosew mojjoH
:[NY] u1 3no |Ind pue Jnoyealq ¥21iq 104 °°'4 SPEO| POPUBILWIOIDY

3-SVH ‘SVH ‘A-LIH

3-SVH ‘SVH ‘A-LIH UHM 0L AH-LIH :A1uosew pijog
:[NY] u1 3no Ind pue Jnoyeaiq 211 104 °°'4 SPEO| POPUBWILIOIDY

04 AH-1IH

May 2016

Page 15



19¢ €102 /80 €102 /80 99¢

Ji} JoU Op SUBWAId OLIN OI-LIH iAIUO OLIN OI-LIH Yim " x8L OS-1IH (2
ybuans soug =9 (q
129016, /My = %1y 10'g= 29054 J0)0k) A)oses [eqo|f B JO UOIJEIapISUOD YIM SeNjeA Peo| PapuswLLIoday (e

May 2016

uedepr
; i
H 004 7
(8'zh) (z'6) (e'9)
szl 00'L 00'L 00'L 20 Nl A
o€l 0 ga
OS-1IH  OS-LIH
Buusjsey
ybnouyy :uoneordde [eoadg
(6'6) (9'8) (1'8)
0z 0z L'l L'l szl NN 001 X 009 X 0061
[wwl gxHx 7
MUN 9 Z (%
320iq
9}912U02 pajaIdy
uedepr
(e'v2) (0'z1) (0'2) (wwg'/g
o' 5z 5z 5z szl N *=A ssauxalu) [12US)
05 [
_mﬁx_ooex 000}
(L'€2) (0's1) (5'8) 8 X H X1
5z 52 0z 0z sz’ NN MUIN €82 ¢ Y
(qels 8109 Mmoj|oH)
ajasoued
wbuass youg 4 (q ' s
1ed0IB/ y M 4 = 9914 :'c= 1995/ J0j08) AJOsES [BGO|6 B JO UOIBISPISUOD YJIM SBN|BA PEO| PapusWWossy (e (1°2) o
(L'v) ('v) 201 0 s s s et A=A
oL <'0 - - [NY] %A , , 08 uedep
- 08 ueder . . . (€ @_‘v (0 Q N3] 2N (ww Gz ssauydIy} ||IaYSs)
e (€°2) ; ; NEN RSN 0'C 0C G'L Gl GZ'l
§1 — : | . Haw
001 X 009 X 006} (z'21) (1) (2'9) INEDN 021 X 061 X 06€
0L - - - N3] A [ww] g x HXT 0'C Gl Sl Sl Gc'L (W] g X H X1
05 AW 9 2 (Y * » 08 AN €7 Z (0%
. . y¥o0|q (6'01) (1'8) NS °*'N ¥90]q 8}210U0D
S0 " " " N1 >N 2)910U09 pajalay 0'c 0'¢ S'l Sl GZ'L
[ww] ydep leliajew Xz xgl X9l X9l Xzl [ww] ydep letiajew
ZLN oL S o Bunjes aseg OS-1IH OS-1IH | OS-lIH | OS-lIH | OS-lH Buijes aseg
azis Joyosuy (441} OLN SN 9N 9zis Joydsuy
3-SVH ‘SVH ‘A-LIH 3-SVH ‘SVH ‘A-1IH
:[NY] W4 speoj ajewnn ueaw :s}ayodeiq ul sanjep :[N3] ¥4 speoj sjewyn ueaw :s}a¥dRIq U SAN|EA
91-1IH / ©I-LIH Pue 3-SVH ‘SVH ‘A-LIH YHM 02 AH-1IH :Aiuosew pijos OI-1IH/9I-LIH PuUe 3-SVH ‘SVH ‘A-LIH Pue 3S-1IH Y3M 0L AH-LIH :A1uosew mo|joH
[N»] ut Ino Ind pue Jnoxealiq ¥21iq 10} >4 , SPeO| papuaIWoday :[NX] ut 3no |Ind pue Jnoyealq }o1iq 10} *>'4 SPeo| PapPUBWWOIdY

04 AH-L1IH #!H 0/ AH-1IH

Page 16




69¢

€102 /80

Jasuadsip ‘saysniq Buiues)o o jas ‘dwnd jno moiq

5100} J2410

913l -c3l

Jawwey Alejoy

(441} OLN 8N 9N

azis Joysuy

juawdinba uonejjeisu|
Bumyeg

€102 /80 89¢€

‘San|eA peoj| JO aUWIA}OP 1O} SPBW 3] 0} dABY S)S9} 9)IS SDUO)S |RAnjeu Jo AJoLIeA BpIM By} 0} ang
*SanjeA Peo| JO UONBUIWI)BP By} 10} dpew (g 0} dARY S)Sa} aYIS
suonIpuod BuIes JO | pue S|eLIdjewWw aSe] PAUOKUSW SAOJE 3y} Jo dpisino suonesidde jje Jo4

| I
d‘xew,
q N 7

[
| r_LVx
: _ <

S

ouq)

XYoLq 8yj Jo yjpesiq = g
- Xouq ayp jo yibusj = P9
3OLQ BUO JO no [ind Joj douB)SISal = 99X

\\
Y
\

dd/vd

9A33IS OS-1IH

wr g ‘ulw 0} paziueAjeb ‘|9a}s uogie)

9A33[S OI-LIH

L2 vo | 1e | ey | 92| 21 | 008 | [wuw] eoL| o8 | 69 | 2's | v'e | €2 | 00§ | [ww]
N B N X B N xu_‘_n_ n N B B B N xotn__
oy | 6 | 1'e | 92 | 'L | 0L | 008 | yipusy zo | 1's | vy | ve | 1T | ¥h | 008 | ugug
re|ve| gz | 1z | z1| 80 | opz | doMa 6 | Vb | €| L2 | 9L | 1L | opg | doMq

09¢ | ooe | ovz | 00z | 0zL | 08 [ 09e | ooe | ovz | 00z | ozk | 08 ]
[ww] ®+9q ypeaiq ya1q ey [ww] PH9q yipeaiq ¥o1q APEUN

wrl G "uiw 0} paziueAleb ‘gL/0’| [99)S uoqied

9A99]S O|-LIH

[eLRlEN

ved

saAaa|s Ayjenb jeuajep

S9GY'L ‘62GY°L 88001 N3
|99)s Jue)sisal uoIsouI00 Ybly ‘Z-905€ OSI N3 ‘02 ssep yibuang

298V L ‘6EVY’L LLGY L ‘826G L ‘POVY L (LOYY L 188001 N3 Ze0v OSI N3
'y opeub [93)s ssa|ulels ‘2-90G€ OSI N3 ‘0L ssejo yibuang NN
Zv0¥ OSI N3 ‘wrl g = paziueneb esls
2-868 0S| ‘g ssep yibuaig
z9e'L
‘6EbY'L (LISY'L |8LSH L POVl L0V L 188001 N3 ‘[oels SsejuelS mmmnmwwﬁ
'Zy0¥ OSI N3 ‘paziuenled (98}
29S| ‘6EVY L (LLGY L '8LGY L ‘YOVY L L0V L 188001 N3 ‘I ¥(3)-SvH
-90G€ OSI N3‘0. ssejo yibuauis 813onp %8 < Y ‘pv opedb [o8)s ssejuiels poJ papealy |
ZvO¥ OSI N3 ‘wrl g 2 paziuenleb [9s)s (2)-svH
8l11onp %8 < °V ‘1-868 OSI N3 ‘8'G ssejo yibuais poJ papealy |
lelole N Hed

SVH Ayenb jeusjepy
s|erLiaje |\

:sadA} youq Jayjo |1y :syouq Aen

:s9|qe} Buimoj|oy
ay} Ul uaAib si ‘[NY] 99*®¥N ‘dolq auo Jo o |nd jo aseo uj sioyoue jo dnoib e Jo Joyoue ue JO pPeo| 8|qemole ay L

)914q duo JO 3no ||nd

*(¥214q auo jo 3no
1ind) 94>eWN pue (3no [Ind ‘ynoyealq ¥21iq) °>'N JO anjeA JaMo| Yy} S| SPeOo| UOISUd} O} DUB)SISAI DAISIIAP Y|

'G2°0 = 0 J0j0B} ALY YUM
paonpal aq 0} sey °*N peo| papuawwo9al ay} Usy} paAIasdo aq jou ued “wo aoueysip abpa wnwiuiw
SIU} §| "paAIasqo sI sjulol [eaiaA 8y} 0} “Wo souelsip abpa wnwiuiw 8y} ji ‘Ajuo pasn ag Aew >N
peo| papuUBWILLIOIa. BY} USY) Jeuow Yyim pajjiy 8q o} Jou ale sjulof ay) jeyy yons paubisap si |lem ayy j| e
“JEHOW yim paji
aq 0} aIe sjuof 8y} Jey} yons paubisap em ayj JI ‘Ajluo pasn aq Aew °>N peEO| papuUBWWODal 8y e
:JunodJe Ojul Uaye} aq o} sey Buimojioy (jlem paisysedun “6°8) B|qISIA 81€ Aluosew ay} jo sjulof ay} §|

'G/'0 = 0 10jJ0B} BY} Y)IM paonpal 8q 0} SeY °*N Peo| PepuBIWIOdal dU} SGISIA JOU BJ8 AIUOSeW 8y} Jo spulof 8y j|
:sjutof Jo asusnpu|

ubisaq

0/ AH-L1IH BIH

May 2016

Page 17



L2€ €102 /80

‘sawiel) JOOp 10 MOPUIM punole ‘B8 ‘papuawiodal S| Ww 00z = o Jo }olq uayoiq e jo abps ay) wolj adUEe)sIp Y
ww 0z = “"“o :abpa 9a1) e spJemo} speoj Jeays Jo aseo uj (e

Sl 0l 9 14 [lw] awnjoA Bullii4
ol 0l 8 S [wN] ™y juswow anbio |
00} 00} 0oL 00} fww] o (¢ SOUEISIP

abpa wnuwiuip

001 001 001 001 [ww] s
s aInjx1y Uy} Ul 8joy
8 v z 6 fww] P 9ouelesd JO Jejewelq
SSOUDIY} |elajew
oLl orh ozl oLl fww] ey asBq WNWIUIN
o€l SLL G6 S8 [wiw] oy uidap sjoH
S ydep
szl oLl 06 08 [ww] U aBeioyoue sARONT
o ng 1P
8l vl 4} ol [wu] P 1o soowep BUIWON
9L ZLN OLIN s8N
¥-SVH ‘3-SVH ‘SVH ‘A-1IH azis Joyouy
- u c_z -
%
_n_:

icE: -

suy I

s|elajew aseq pijos ui yydap abesoysue aaoaye pue oy yydap ajoy :sjiejap Buyas

04 AH-LIH HIH

€102 /80 0.€

Ui |
Ui Z
Ui &
(VTTTRV
i o)
uiw o}
upl o

e

1wpps xg
|WpEE X2
-

e |

s|eajew aseq pIjos ui uononsysul Bunjeg

0/ AH-L1IH BIH

May 2016

Page 18



€Le €102 /80 €102 /80 z.€

*S9WEel} J0Op JO MOPUIM punole "B ‘papuawiwosal si wo 0z = “o Jo 3oLqg uayolq e jo abpa ay} wolj asuesip v
wo 0g = "2 :obpa 931} B SPIEMO]} SPEO| JB3YS JO 9SO U (B

9l 0l 9 9 9 9 9 9 9 |liw] awnjoA buljii4
ol 8 S ol 8 S oL 8 S [IwNl  ®L Juswow anbio]
aoue)sip
{
00L | 00L | oOL | 0Ob | 0OL | OOL | O0OL | 0OL | 0OL [lww] —“o oBpa WA
004 | 00L | 00k | 00L | OOL | 00k | 00L | 0OL | 00} |lww] —*s  Bupeds wnwiuipy
0g'Xew| Gz xew| 0z xeuwl . . . . juswabebua
ZLuw o) | gu 54 EWT0L UM gLxew oL ruujlww] oy 110g Jo yiBus]
aInjxiy Y3 Ul 8joy
0005 XE 14 4} 6 7l 4" 6 i zl 6 | lwuw] p ooUBIEBP 10 JOPWEIT
|WOEE X2 01 | o5t | ozh | stb | sbb | guk | Gib | gk | Gib lww] wwy o SSOWPOMELSEW

aseq wnwiuly

0€L | GLL S6 [eie] 58 58 68 68 68 |[wuw] oy uydap sjoH
° yydep

Gzl | oLl | 06 08 08 08 08 08 08 | [ww] U aBeloyoue sARONT
nq 1P

e 8l vl 8l 9l i 8l 8l vl | [ww] p

CLN | OLN SIN CLN | Ol 8N CLN | OLWN 8N
N¥/N-SIH OIFlIH 9O LIH azis Joyosuy

OI1IH ‘OI-LIH siieap Bumes

JO JajowWelp [BUIWON

iy uwy

E: By

Lnjiaus
)
=

e Y

yoed |10} jw 0gg Buisn — |eldjew aseq mojjoy ul uoijonjsuil buipes NY/N-SIH OI-1IH ‘OF-L1IH

04 AH-L1IH BIH 0/ AH-L1IH BIH

May 2016

Page 19



B7R% €102 /80 €102 /80 1€

‘S9WEel} J0Op JO MOPUIM punole "B ‘papusawiwosal si wo 0z = ““o Jo oLg uayolq e jo abpa ay} wolj aouesip v
wo 0z = "4 :abpa 931} B SPIEMO]} SPEO| JBeays Jo ased U] (e

St 9¢ 0€ St St 0€ [lw] awnjoA bu
9 14 € 9 ¥ € [wN] ™ juswouw anbio |
aoue)sip
{
00l 00l 00L 001 00L 00L [ww] "o 565 WNWIUIY
0oL 00l 00L 00l 00L 001 [ww]  "¥s Buioeds wnuwiulpy
G/ 'Xew — Q] "uiw GJ "xew — Q| uw [ww] sy Juswoabebus
i i }0q jo yjbus
vl 2l 6 vl 2 6 |wu] p S4nix| 8 Ut eloy B
80UBIES[O JO JojeWEl] 66 | oc | 9 | 8 | o | 8 | 0g | 8 | vz | 2z |lwl awnjoa Buiiy
™ SSOUOIU} [EeloleW 9 9 9 9 i4 i4 3 € € e Jlwn] Juawow anbio)
GLL GLL GlL Gl Gl Gl [ww] "y osEq WNWIUIN souBIsIp
— 004 | 0OL | 00L | 00L | OOL | OOL | 0OL | 0OL | OOL | OOb |[ww] o 565 WU
96 56 56 56 6 G6 [wuw] oy uydap ajoH - —
Gdep 00L | 00L | 00L | 0OL | 0OL | 0OL | 00L | 0O | OOL | 00} |lwuw] Ws ,Buoeds wnwiuiy
08 08 08 08 08 08 [wiw] 2y ainyx1y 8y ur ajoy
6 ! !
dbeioyoue m>hw“m”ﬁw LA I 4 4 I O (R S e 4% 6 6 L L | [ww] P souesesio 10 JeeWEI]
[wu] p i
e 8 o o o o J0 JejoWeIp [EUIWON it | 08 | si | 08 | s | o8 |G| 08 || 08 [l ey S N
68x2e G8x8l G8x9] §8X2¢ §8xze G8x91 OS LIH 2A93|s aAalg ] 5 o o
I oLl N T oLl N — g6 09 G6 09 g6 09 G6 09 g6 09 u Y _05 ﬂ__ mﬂ
OI-LIH 9OI-LIH 08 0S 08 0S 08 0S 08 0S 08 05 |lwuw] U e 104oUE BAROBYT

93]S 3A3IS YIM OI-LIH / OI-LIH Sliesap Bunias

o uq (up
2z | ze | 8L | 8 | 9L | 9L | 9L | 9 | 2z | g [[wu P o Jorewerp leuiwoN
- - G8XZZ | 06XZZ | S8X8L | 0SX8L | G8X9L | 0SX9L | G8X9L | 0SX9L | G8XZL | 0SXZL OS LIH 2A93]s aA3lg
il ZLN 0LIN SN 9N azis Joyouy
- - - 9Ad3|S AADIS YUM Y- LIH / SVH / A-LIH sitejap Bumoeg
U
18
E EE_._
Y [ -
_Jl _ " —— - Or_ -
- o -
— ¥
: T — i
! L= I %
- nr_ - .
OI-LlIH / OIFLIH SVH ‘A-LIH
OS-LIH Ym OI-LIH / OI-LIH OS-LIH Yim OV-LIH / SYH
s|eli9jew aseq mojjoy ul yydap abeioyoue aAoaye pue oy yydap ajoy :sjiejap bunles s|el9jew aseq mojjoy ul yydap abeioyoue aA3oaye pue oy yydap ajoy :sjiejap buiples

04 AH-L1IH #H 04 AH-LIH BIH

May 2016

Page 20



[:]]E] Anchor Technology

Setting Operation

Hilti Injection Technique HIT HY70 + thread rod or sleeve in
hollow brick system

Material : Anchor rod : HIT-V/VR

Threaded sleeve: HIT-IG

Composite sleeve: ~ HIT-SC

Mortar cartridge:  HIT HY70

Dispenser : MD2000, MD2500, ED3500
Reference : Hilti Fastening Technical Manual or Product Catalogue

Setting Operation:

1. Drill the hole with or without hammering to the
dimension according to the installation details.

2. Clean the drilled hole thoroughly by using the
blow-pump & brushes. The hole should be free
from water, or otherwise, the ultimate load will be
reduced.

HAH

3. Fit centering cap to composite sleeve (HIT-SC)
body.

If more than one composite sleeve (HIT-SC) is -
needed, simply connect an outer composite
sleeve (HIT-SC) to an inner composite sleeve
(HIT-SC).

Page 21

May 2016



=T

Anchor Technology

Setting Operation

4. Insert sleeves into bore holes.

5. Open the HIT HY70 cartridge cap, insert it into
the holder and screw the mixer on it.

6. Putthe HIT HY70 cartridge into the dispenser.

7. Throw away first 3 (for 500ml) or 2 (for 330ml)
trigger pulls. Release dispenser to stop the
grout flowing.

2x 330ml
3x 500ml

8. Stick mixer tip through bottom of outer sleeve, fill
sleeve with mortar.

Set mixer tip at centering cap; fill outer
composite sleeve with mortar until mortar
escapes at centering cap (filling control)

Page 22

May 2016



[:]]E] Anchor Technology

Setting Operation

9. Push fastening elements into mortar filled
composite sleeve; observe working time “tgel”.

[
23

32
41
50

68
86
104

10.Do not touch or put load to the fastening
element, until curing time “tcure” has passed.

“3 °F

23

32
41
50
68

86
104

11.A load or tightening torque may be applied.

Page 23 May 2016



[:]]E] Anchor Technology

Setting Operation

Hilti Injection Technique HIT HY70 + thread rod or sleeve in
solid brick system

Material : Anchor rod : HIT-V/VR

Threaded sleeve: HIT-IG, HIS-N/RN

Mortar cartridge:  HIT HY70

Dispenser : MD2000, MD2500, ED3500
Reference : Hilti Fastening Technical Manual or Product Catalogue

Setting Operation:

1. Drill the hole with or without hammering to the |[lE—
dimension according to the installation details.

gy

2. Clean the drilled hole thoroughly by using the
blow-pump & brushes. The hole should be free
from water, or otherwise, the ultimate load will be
reduced.

3. Open the HIT HY70 cartridge cap, insert it into
the holder and screw the mixer on it. LN

Page 24 May 2016



[:]]E] Anchor Technology

Setting Operation

4. Put the HIT HY70 cartridge into the dispenser. 7,

5. Throw away first 3 (for 500ml) or 2 (for 330ml)
trigger pulls. Release dispenser to stop the
grout flowing.

2x 330ml
3x 500ml

6. Fill the hole without trapping air.

7. Push fastening elements into mortar filled bore % tael
hole; observe working time “tgel”. J i

°F
23

32
41
50

68
86
104

8. Do not touch or put load to the fastenin
element, until curingl'fime “tcure” has passed. ) % i
16
23
32
41
50
68

86
104

9. Aload or tightening torque may be applied.

Page 25 May 2016



YOUR REF seimf#i: 729-519

S EE i R/SEG, G
Buildings Department OUR REr ;::ﬁ@ks) in BD/G 23’2";”;‘56;
E F & TEL & 2626 1583

Hilti (Hong Kong) Limited t# June, 1997
17/E, Tower 6,

China Hong Kong City,

33 Canton Road,

Tsimshatsui,

Kowloon.

Attention: Mr. Denny Wu

Dear Sir,

I refer to your letter dated 19 May, 1997 concerning the above.

2. Please be advised that there is no provision under the Buildings
Ordinance for the Building Authority to approve any proprietary building products.
Under the Buildings Ordinance, authorized persons and/or registered structural
engineers are required to supervise building works including the selection and
installation of proprietary building products and to certify compliance with the
Buildings Ordinance upon completion of works. They are therefore responsible for
ensuring the health and structural safety requirements, inter alia, of these building
products in the building projects which they have been appointed by the developer to
co-ordinate and supervise. It is also their responsibility to ensure these products have
been installed in accordance with the manufacturers’ specifications and complied with
the Buildings Ordinance and Regulations.

3. In establishing the acceptability of the proprietary products in building
works, reference may be made to the performance standards laid down in Building
(Construction) Regulations 1990 and the current Practice Note for Authorized Persons
and Registered Structural Engineers 140 in which performance requirements for
compliance are given. Reliance may also be placed on the test/assessment report
prepared by a recognized laboratory or an equivalent establishment.

4. Before the proprietary products are installed in a building project, the
authorized person and/or registered structural engineer appointed for the project should
be approached by the manufacturers or their agents for advice and guidance. Prior
approval/acceptance from the Buildings Department is not required.

5. Generally, all relevant information supporting the use of the proprietary
products in building works under the Buildings Ordinance should be submitted
associated with the prescribed plans for approval on project basis.

/ Notwithstanding. ...

il +_§’§+}L§

_ I12/F-18/F Fioneer Centre, 750 Nathan Road




YOUR REF #mtass: 729-519
B:‘.‘.— Buildillgs Department OUR REF ## %48} in BD/GR/SEG/PPA(G)
n E =

FAX @Xis: 2626 1762
TEL #R3&: 2626 1583
2.
6. Notwithstanding the above, the proprietary building products to which

‘No objection’ letters have been given are stiil recognized as accepted constructional

. materials to be used in building works under the Buildings Ordinance provided that alt
conditions specified in the letters are satisfied. You are informed that the procedures
currently adopted by the Biilding Authority for processing Statutory approval of plans
which involve the use of these proprietary building products remain unchanged.

7. It is a fact that the ‘No objection’ letter giving general acceptance to a
proprietary building product is based on the technical information submitted to this
Department at the time of its application. Should there be any significant modification
to these technical information, the product will certainly be considered as ‘new’
product. The acceptability of such proprietary product in building works should be
evaluated by the authorized person and/or registered structural engineer appointed for
the project as mentioned above. '

8. Should you have any further queries to the above, please feel free to
contact the undersigned or Mr. T.C. Kan of this office at phone no. 2626 1583,

Yours faithfully,

P,

(K.S. Chang)
Technical Secretary/Structural
for Building Authority
tck/
12/F-18/F Ploneer Contre, 750 Nathan Roud, Mongkok, Kowloon, Hong Kong, 7#112 FLTHRE 2 AR E E OBAM L |- - /s May 2016
Page 2 .




88 Empire Drive ¢ St. Paul, Minnesota * 55103
(651) 642-1150 - fax (651) 642-1239

VOC Content Test Certificate

Friday June 19, 2009

Supplier: Hilti Entwicklungsgesellschaft mbH
BU Chemical Anchors
Hiltistrasse 6
86916 Kaufering
GERMANY

Sample Description: Hilti HIT-HY 70
Date tested: May 2009

Test Method: SCAQMD method 304-91 Determination of Volatile Organic Compounds (VOC)
in Various Materials as referenced by South Coast Air Quality Management
District (SCAQMD) Rule 1168. The values also comply with the requirements of
EPA test method #24.

Test Data:
Specification Product
LEED 2009 (LEED 3.0)
LEED 2.2
IEQ-4.1: Low-Emitting Materials — o
Adhesives and Sealants H| |t|

Green Building Council of Australia H |T-HY 70

Green Star Office Design 3.0, IEQ-13
Green Star Office Design 2.0, IEQ-13
Green Star Office Interiors 1.1, IEQ-11

Multipurpose Construction Adhesives;

VOC Limit: 70 g/L Product contains: 36 g/L of VOC

William Welbes Allen Noreen, Ph.D.
Vice President of Laboratory Operations Technical Director

Page 28 May 2016



Page 29 May 2016



Page 1/4

Material Safety Data Sheet
According to 91/155 EEC

Printing date 29.06.2006 Reviewed on 29.06.2006

1 Identification of substance:

- Product details:

- Trade name: Hilti HIT-HY 70

- Container size 330 ml, 500 ml, 1400 ml
- Application of the substance / the preparation Adhesive mortar for anchor and rebar fastenings in solid and hollow masonry

- Manufacturer/Supplier:
Hilti (Gt. Britain) Ltd.
1 Trafford Wharf Road
Trafford Park
GB-M17 1BY Manchester M17 1 BY
Tel: +44 161 886 1000 /0800 886 100 Toll-free
Fax +44 161 872 1240 /0800 886 200 Toll-free

- Informing department: see section 16
- Emergency information:
Tel. 0044 161/886 1000
Fax. 0044 161 /872 1240
Schweizerisches Toxikologisches Informationszentrum - 24 h Service
Tel.: 0041 /1 251 51 51 (international)

2 Composition/Data on components:

- Chemical characterization
- Description:
2-Component-foilpack, contains:
Component A: Urethane methacrylate resin, inorganic filler
Component B: Dibenzoyl peroxide, phlegmatized
Mixture of the substances listed below with harmless additions.

- Dangerous components:

CAS: 923-26-2 2-hydroxypropyl methacrylate [ Xi; R 36-43 2.5-10%
EINECS: 213-090-3

CAS: 43048-08-4 | Tricyclodecane dimethanol dimethacrylate [ Xi; R 36/38 2-5%
CAS: 3290-92-4 propylidynetrimethyl trimethacrylate [%] Xi; R 36/38 2-5%
EINECS: 221-950-4

CAS: 94-36-0 dibenzoyl peroxide [ Xi, E;R2-7-36-43| 5-10%
EINECS: 202-327-6

- Additional information For the wording of the listed risk phrases refer to section 16.

3 Hazards identification

- Hazard designation:

Xi Irritant
O Oxidising

- Information pertaining to particular dangers for man and environment
The product has to be labelled due to the calculation procedure of the "General Classification guideline for preparations of the EU" in the latest
valid version.
R7 May cause fire.
R 36/38 Irritating to eyes and skin.
R 43  May cause sensitisation by skin contact.
- Classification system
The classification is in line with current EC lists. It is expanded, however, by information from technical literature and by information furnished by
supplier companies.

4 First aid measures

- General information Instantly remove any clothing soiled by the product.

- After inhalation Take affected persons into the open air and position comfortably

- After skin contact Instantly wash with water and soap and rinse thoroughly.

- After eye contact Rinse opened eye for several minutes under running water. Then consult doctor.
- After swallowing Seek immediate medical advice.

5 Fire fighting measures

- Suitable extinguishing agents CO2, extinguishing powder or water jet. Fight larger fires with water jet or alcohol-resistant foam.
- For safety reasons unsuitable extinguishing agents Water with a full water jet.
- Special hazards caused by the material, its products of combustion or resulting gases:
Formation of toxic gases is possible during heating or in case of fire.
Can be released in case of fire
Nitrogen oxides (NOx)
(Contd. on page 2)

GB—

Page 30 May 2016



Page 2/4

Material Safety Data Sheet
According to 91/155 EEC

Printing date 29.06.2006 Reviewed on 29.06.2006

(Contd. of page 1)
Carbon monoxide (CO)
Carbon dioxide (CO2)
- Protective equipment:
Wear self-contained breathing apparatus.
Do not inhale explosion gases or combustion gases.

6 Accidental release measures

- Person-related safety precautions:

Wear protective equipment. Keep unprotected persons away.

Wear protective clothing.

wearing gloves
- Measures for environmental protection: Do not allow to enter drainage system, surface or ground water.
- Measures for cleaning/collecting:

Clean the accident area carefully; suitable cleaners are:

organic solvent

Dispose of the material collected according to regulations.

7 Handling and storage

- Handling
- Information for safe handling:
The usual precautionary measures for handling chemicals must be observed.
Check the expiry date before use. See imprint on the converter part of foil pack.
- Information about protection against explosions and fires: No special measures required.

- Storage
- Requirements to be met by storerooms and containers: Store in a cool (+5°C to +25°C), dry and dark place only in the original packaging.
- Information about storage in one common storage facility: Store away from foodstuffs.
- Further information about storage conditions:
Store in a cool place.
Protect from heat and direct sunlight.

8 Exposure controls and personal protection

- Additional information about design of technical systems: No further data; see item 7.

- Components with limit values that require monitoring at the workplace:
The product does not contain any relevant quantities of materials with critical values that have to be monitored at the workplace.
- Additional information: The lists that were valid during the compilation were used as basis.

- Personal protective equipment
- General protective and hygienic measures
The usual precautionary measures should be adhered to general rules for handling chemicals.
Avoid contact with the eyes and skin.
Do not eat, drink or smoke while working.
Keep away from foodstuffs, beverages and food.
Wash hands during breaks and at the end of the work.
- Breathing equipment: Not required.
- Protection of hands:
Protective gloves.
Avoid direct contact with the chemical/ the product/ the preparation by organizational measures.
If only a short-term loading of the glove material by splashes is expected, tricoted gloves with higher wearability for the better acceptance of the
users are recommended.
Use gloves of stable material (e.g. Nitrile) - if necessary tricoted to improve the wearability.
- Material of gloves
Nitrile rubber, NBR
The selection of the suitable gloves does not only depend on the material, but also on further marks of quality and varies from manufacturer to
manufacturer. As the product is a preparation of several substances, the resistance of the glove material can not be calculated in advance and has
therefore to be checked prior to the application.
- Penetration time of glove material
The exact break trough time has to be found out by the manufacturer of the protective gloves and has to be observed.
- For the permanent contact gloves made of the following materials are suitable: Nitrile rubber, NBR
- For the permanent contact of a maximum of 15 minutes gloves made of the following materials are suitable: Nitrile rubber, NBR
- As protection from splashes gloves made of the following materials are suitable: Nitrile rubber, NBR
- Not suitable are gloves made of the following materials:
Leather gloves
Strong gloves
- Eye protection: Tightly sealed safety glasses.
- Body protection: Protective work clothing.

9 Physical and chemical properties:

- General Information
Form: Pasty

(Contd. on page 3)

GB—

Page 31 May 2016



Printing date 29.06.2006

Material Safety Data Sheet
According to 91/155 EEC

Page 3/4

Reviewed on 29.06.2006

(Contd. of page 2)

Colour:
Odour:

Light grey
Ester-like

- Change in condition
Melting point/Melting range:
Boiling point/Boiling range:

Not determined
240°C

- Flash point:

96°C

- Decomposition temperature:

Component B: 60°C

- Self-inflammability:

Product is not selfigniting.

- Danger of explosion:

Product is not explosive.

dynamic at 20°C:
kinematic at 20°C:

- Density at 20°C 1.70 g/cm? (DIN 51757)
- Solubility in / Miscibility with
Water: Unsoluble
- pH-value: Component B: ~ 6
- Viscosity:

~ 70 Pa.s (DIN 53788)
>20's (DIN 53211/4)

- Solvent content:

Organic solvents: 0.0%
Water: Comp.B: ~30 %
- Solids content: ~ 60 %

10 Stability and reactivity

- Thermal decomposition / conditions to be avoided: No decomposition if used according to specifications.

- Dangerous reactions No dangerous reactions known
- Dangerous products of decomposition: No dangerous decomposition products known

11 Toxicological information

- Acute toxicity:
- Primary irritant effect:

- on the skin: Irritant to skin and mucous membranes.

- on the eye: Irritant effect.

- Sensitization: Sensitization possible by skin contact.
- Additional toxicological information:

The product shows the following dangers according to the calculation method of the General EC Classification Guidelines for Preparations as

issued in the latest version:
Irritant

12 Ecological information:

- Additional ecological information:

- According to recipe contains the following heavy metals and compounds according to EC guideline NO. 76/464 EC: ---
- General notes: Water hazard class 1 (German Regulation) (Self-assessment): slightly hazardous for water.

13 Disposal considerations

- Product:
- Recommendation

For disposal,local regulations issued by the authorities must be observed.Dispose of liquid components at a suitable incineration plant. After

curing, the product can be disposed of with household waste.

- European waste catalogue

08 00 00| WASTES FROM THE MANUFACTURE, FORMULATION, SUPPLY AND USE (MFSU) OF COATINGS (PAINTS, VARNISHES
AND VITREOUS ENAMELS), ADHESIVES, SEALANTS AND PRINTING INKS

08 04 00 |wastes from MFSU of adhesives and sealants (including waterproofing products)
08 04 09 |waste adhesives and sealants containing organic solvents or other dangerous substances

20 00 00| MUNICIPAL WASTES (HOUSEHOLD WASTE AND SIMILAR COMMERCIAL, INDUSTRIAL AND INSTITUTIONAL
WASTES) INCLUDING SEPARATELY COLLECTED FRACTIONS

20 01 00 |separately collected fractions (except 15 01)
20 01 27 |paint, inks, adhesives and resins containing dangerous substances

- Uncleaned packagings:
- Recommendation:

Used/empty foilpacks: national waste collection and recovery systems
Disposal must be made according to official regulations.

15 00 00: WASTE PACKAGING; ABSORBENTS, WIPING CLOTHS, FILTER MATERIALS AND PROTECTIVE CLOTHING NOT

OTHERWISE SPECIFIED

15 01 00: packaging (including separately collected municipal packaging waste)

(Contd. on page 4)

Page 32

GB—

May 2016



Page 4/4
Material Safety Data Sheet
According to 91/155 EEC

Printing date 29.06.2006 Reviewed on 29.06.2006

(Contd. of page 3)
15 01 06: mixed packaging

14 Transport information

- Land transport ADR/RID (cross-border)
- ADR/RID-GGVS/E Class: -

- Remarks: Not classified as dangerous goods in terms of the ADR

- Maritime transport IMDG:

- IMDG Class: -

- Marine pollutant: No

- Remarks: Not classified as dangerous goods as per above regulation.

- Air transport ICAO-TI and IATA-DGR:
- ICAO/IATA Class: -
- Remarks: Not classified as dangerous goods as per above regulation.

*

15 Regulatory information

- Designation according to EC guidelines: The product has been labelled in accordance with EC Directives / relevant national laws.

- Code letter and hazard designation of product:

Xi Irritant
O Oxidising

- Hazard-determining components of labelling:
dibenzoyl peroxide
2-hydroxypropyl methacrylate

- Risk phrases:
7 May cause fire.
36/38 Irritating to eyes and skin.
43 May cause sensitisation by skin contact.

- Safety phrases:
3 Keep in a cool place.
24/25  Avoid contact with skin and eyes.
26 In case of contact with eyes, rinse immediately with plenty of water and seek medical advice.
28 After contact with skin, wash immediately with plenty of soap and water.

36/37/39 Wear suitable protective clothing, gloves and eye/face protection.

- National regulations
Council Directive 89/391/EEC of 12 June 1989 on the introduction of measures to encourage improvements in the safety and health of workers at
work. Article 12 Training of workers

- Information about limitation of use: Employment restrictions concerning young persons must be observed.

- Technical instructions (air):
Class | Share in %
| <2,5

- Water hazard class: Water hazard class 1 (Self-assessment): slightly hazardous for water.

*

16 Other information:

These data are based on our present knowledge. However, they shall not constitute a guarantee for any specific product features and shall not
establish a legally valid contractual relationship.

- Relevent R-phrases
2 Risk of explosion by shock, friction, fire or other sources of ignition.
36  Irritating to eyes.
36/38 Irritating to eyes and skin.
43 May cause sensitisation by skin contact.
7 May cause fire.

- Department issuing data specification sheet:
Hilti Entwicklungsgesellschaft mbH
Hiltistrasse 6
D-86916 Kaufering
Tel: +49 8191 90 6310
Fax: +49 8191 90 6826
- Contact: Monika Ménch
-* Data compared to the previous version altered.

Page 33 May 2016



Job / Application Reference
Product Name: Injectable mortar HIT-HY 70

Project Name Contractor Application
Project Type:ASD

2011 Tamar Development UNITED ANEX ENGINEERING LIMITED Window frame fixing
2012 Kai Tak Development CHIT FU WATER PIPES ENGINEERING Plumbing & drainage fixing
2012 Kai Tak Development PERFECT CITY ENGINEERING LTD Plumbing & drainage fixing

Kai Tak Development COMPANION ENG CO LTD Plumbing & drainage fixing
Project Type:Buildings
Pak Shek Kok Development MARMOLES HK LTD Stone cladding fixing

Lok Wo Sha Complex Development
ERDVERERE HIP HING / EMAN Electrical services fixing
Project Type:HKAA

Airport Development
2011 WiSETRER GOLDWAVE DESIGN & ENGINEERING CO Hand rail fixing

Airport Development
2014 WiSETERER GAMMON Blockwork tie fixing
Project Type:Macau - Casino & Hotel

2014 Galaxy Maga Resort#R o] JE B4 S Fixing on steel structural
City of Dreams Hotel Tower D

2015 s R MBS KED Dragages Curtain wall fixing

2012 Che Kung Temple Depot HANG FAI CONSTRUCTION ENGINEERING Stone cladding fixing
Tuen Mun Station Development (TMTL

2012 447) TEAMBO METAL ENGINEERING LIMITED Hand rail fixing
Tuen Mun Station Development (TMTL

2013 447) SIMBEL LTD Stone cladding fixing
MTR - West Island Line

2014 788 S 4R MTRC Steel beam/bracket fixing
MTR - Express Rail Link

2015 R E S R MTRC Glass wall fixing

701-704 Tower A, Manulife Fiancial Centre, 223 Wai Yip Street, Kwun Tong, Kwoloon , Hong Kong
Hotline: 8228 8118 1
Page 34 May 2016



	Report(P) Product - HY70.pdf
	Report(P) Product - HY70




